i
CISCO.

Alpha Amp Clamp for Power Inserter Installation Instructions

Overview

Introduction

This document provides a technician with instructions on how to install an Alpha
amp clamp in a power inserter.

Parts

Power Inserter Power Inserter | Amp Clamp Power Inserter
Part Number Part Number with Amp Clamp
Part Number
750 MHz 467339 562654 503749
1GHz 506667 562654 506668
High Current 544838 562654 544839

Required tools

Before you start, make sure you have the following tools.

e 3/8-in. nut driver

o #2 Phillips-head screwdriver




Overview, Continued

Power inserter illustrations

The following illustrations show the 750 MHz, 1 GHz, and high current power
inserters.

750 MHz Power Inserter

Teaad

1 GHz Power Inserter

=
5 i e

TeIAE

EARR A LT

TeIAE

2 Alpha Amp Clamp for Power Inserter Installation Instructions 78-589863-01 Rev C



Installing the Alpha Amp Clamp

Installing the amp clamp

Follow the steps in the table below to install the amp clamp in the power inserter.

Step

Action

1

Using a 3/8-in. nut driver, loosen the four captive bolts on the faceplate.

Boit

b FFAC

4— Boit

- Bolt

Teaa1

Grasp two bolts on the faceplate and pull straight out from the power

inserter housing.

Locate the Port 4 label on the exterior of the power inserter housing.

78-589863-01 Rev C

Alpha Amp Clamp for Power Inserter Installation Instructions




Installing the Alpha Amp Clamp, Continued

Installing the amp clamp (continued)

Step

Action

4

Place the amp clamp board, SCR side down, in the Port 4 corner of the
power inserter housing. Align the two holes in the board with the two
mounting holes in the housing.

Mounting Metal
Screw Fuse Standoffs

Port 4—.'*5

Mounting
Screw

i s o
......... w .

Insert the two mounting screws into the amp clamp board and tighten
from 10 in-Ib to 12 in-1b (1.13 Nm to 1.35 Nm) to ensure a good ground
connection.

Remove the power inserter fuse from the faceplate (closest to the vertical
L-shaped metal RF shield) and insert it into the amp clamp’s fuse holder.

Power
Inserter
Faceplate
L-shaped
Metal RF
Shield
Housing s
Alignment Am plifier Clamp
Tab Standoff Clip @3

Alpha Amp Clamp for Power Inserter Installation Instructions 78-589863-01 Rev C



Installing the Alpha Amp Clamp, Continued

Installing the amp clamp (continued)

Step

Action

7

Align the power inserter faceplate with the power inserters housing.
Ensure that the housing alignment tab on the faceplate and power
inserter housing match. Carefully press the two halves together.

Note: The metal standoff mating prongs on the amp clamp must snap
between both standoff clips on the faceplate.

Using a 3/8-in. nut driver, tighten the faceplate’s four captive bolts from
50 in-1b to 60 in-1b (5.6 Nm to 6.8 Nm).

If you have a 750 MHz power inserter use the following label:

S03TADA A INPUT -

SAIP

I FF/AC 750 MHz2
Tams

If you have a 1 GHz power inserter use the following label:

c SOGEERA AL INFPUT -
SAI C -
I FF/AC 1 GHz AFAC A

oo

If you have a high current power inserter use the following label:
SAFHIC-C AC INFUT

an HIGH CURRENT
POWER CLAMP

I FF/AC Sd448354 AFAC A
ToEa7

10

Clean the label area on the surface of the power inserter (remove dust,
etc.). Remove the adhesive backing of the product/serial number label
from the retrofit kit and place on the exterior of the power inserter
housing.

78-589863-01 Rev C

Alpha Amp Clamp for Power Inserter Installation Instructions




For Information

If you have questions

If you have technical questions, call Cisco Services for assistance. Follow the menu
options to speak with a service engineer.

T
CISCO.

Cisco Systems, Inc. 678 277-1120
5030 Sugarloaf Parkway, Box 465447 800 722-2009
Lawrenceville, GA 30042 WWW.CiSCO.Com

Cisco and the Cisco logo are trademarks or registered trademarks of Cisco and/or its affiliates
in the U.S. and other countries. To view a list of cisco trademarks, go to this URL:
www.cisco.com/go/trademarks.

Third party trademarks mentioned are the property of their respective owners.

The use of the word partner does not imply a partnership relationship between Cisco and any
other company. (1110R)

Product and service availability are subject to change without notice.

© 1998 2008, 2012 Cisco and/or its affiliates. All rights reserved.
August 2012  Printed in USA Part Number 78-589863-01 Rev C



	Overview
	Installing the Alpha Amp Clamp
	For Information

